International Economics, 10e (Krugman/Obstfeld/Melitz)

Chapter 19 (8)   International Monetary Systems: An Historical Overview

19.1   Macroeconomic Policy Goals in an Open Economy

1) A country seeking to maintain internal balance would be concerned

A) only with attaining low levels of unemployment.

B) primarily with ensuring that saving is weighted more towards domestic investment than the current account.

C) with large fluctuations in output or prices.

D) with maintaining an adequate stock of gold reserves.

E) with stabilizing employment levels globally.

Answer:  C
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Difficulty:  Easy

2) By internal balance, most economists mean

A) full employment.

B) price stability.

C) full employment and price stability.

D) full employment and moderate increase in prices.

E) full employment and high disposable income.

Answer:  C
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3) By external balance, most economists mean

A) avoiding excessive imbalances in international payments.

B) balance between exports and imports.

C) balance between the trade and service accounts.

D) what amounts to fixed exchange rates.

E) imbalance in internal transactions.

Answer:  A
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4) Which one of the following statements is TRUE?

A) Inflation but not deflation can occur even under conditions of full employment.

B) Deflation but not inflation can occur even under conditions of full employment.

C) Inflation or deflation can occur even under conditions of full employment.

D) Inflation can occur even under conditions of full employment only in the long run.

E) Inflation does not coincide with periods of high unemployment levels.

Answer:  C
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5) Inflation can occur under conditions of full employment

A) only if the central bank continues to inject money into the economy and the agents' expectations of inflation are supported by the bank's activities.

B) only if the central bank continues to inject money into the economy.

C) only if the central bank continues to withdraw money from the economy.

D) only if the central bank continues to inject money into the economy and all agents expect that inflation will not occur.

E) only if the central bank fails to inject money into the economy.

Answer:  A
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6) A sudden increase in the U.S. price level

A) makes those with dollar debts worse off.

B) makes those with dollar debts better off.

C) does not affect those with dollar debts.

D) makes those with foreign debts better off.

E) increases all dollar debts.

Answer:  B
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7) A sudden increase in the U.S. price level

A) makes creditors in dollars better off.

B) makes creditors in dollars worse off.

C) do not affect creditors in dollars.

D) makes creditors in DM worse off.

E) makes lenders worse off.

Answer:  B
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8) A sudden decrease in the U.S. price level

A) makes those with dollar debts worse off.

B) makes those with dollar debts better off.

C) do not affect those with dollar debts.

D) makes those with DM worse off.

E) makes creditors worse off.

Answer:  A
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9) A sudden decrease in the U.S. price level

A) makes creditors in dollars better off.

B) makes creditors in dollars worse off.

C) do not affect creditors in dollars.

D) makes creditors in DM better off.

E) makes those with dollar debts better off.

Answer:  A
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10) A current account surplus

A) poses a problem if domestic savings are being invested more profitably abroad than they would be at home.

B) may pose no problem if domestic savings are being invested more profitably abroad than they would be at home.

C) may pose no problem if domestic savings are being invested less profitably abroad than they would be at home.

D) there is no relation between current account surplus and between savings and investment.

E) poses a problem if domestic savings are being invested less profitably abroad than they would be at home.

Answer:  B
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11) A current account deficit

A) will not pose a problem, especially if it is accompanied by an expansionary fiscal policy.

B) may pose no problem if the borrowed funds are channeled into productive domestic investment projects that pay for themselves with the revenue they generate in the future.

C) may still pose a problem, even if the borrowed funds are channeled into productive domestic investment projects.

D) There is no relation between current account surplus and between savings and investment.

E) will pose a problem because the country is borrowing funds from the rest of the world that it won't be able to pay back later.

Answer:  B
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12) Which one of the following statements is TRUE?

A) Countries with strong investment opportunities should invest little at home and channel their savings into more productive investment activity abroad.

B) Countries with weak investment opportunities should invest little at home and channel their savings into more productive investment activity abroad.

C) Countries with weak investment opportunities should invest more at home.

D) Countries with weak investment opportunities should invest little abroad.

E) Countries with weak investment opportunities should invest little abroad and channel their savings into more productive investment activity domestically.

Answer:  B
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13) Countries with

A) strong investment opportunities should invest little at home and channel their savings into more productive investment activity abroad.

B) strong investment opportunities should invest more at home and less abroad.

C) weak investment opportunities should invest more at home.

D) weak investment opportunities should invest little abroad.

E) countries with productive investment should invest exclusively at home.

Answer:  B
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14) Countries where investment is relatively

A) productive should be net exporters of currently available output.

B) unproductive should be net importers of currently available output.

C) unproductive should be net exporters of currently available output.

D) unproductive should be net exporters of future available output.

E) unproductive should focus on their internal balance.

Answer:  C
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15) Countries where investment is relatively

A) productive should have current account deficits.

B) productive should have current account surpluses.

C) unproductive should have current account surpluses.

D) productive should balanced current account surpluses.

E) productive should have low outputs.

Answer:  B
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16) Which one of the following statements is TRUE?

A) Countries where investment is relatively productive should be net importers of current output.

B) Countries where investment is relatively unproductive should be net importers of current output.

C) Countries where investment is relatively productive should be net exporters of current output.

D) Countries where investment is relatively productive should not export or import current output.

E) Countries where investment is relatively unproductive should invest at home.

Answer:  A
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17) Countries where investment is

A) relatively unproductive should have current account deficits.

B) relatively productive should have current account surpluses.

C) relatively productive should have current account deficits.

D) relatively productive should have balanced current accounts.

E) relatively unproductive should have balanced current accounts.

Answer:  C
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18) Governments prefer to avoid excessive current account surpluses because

A) the returns to domestic savings are more difficult to tax than those on assets abroad.

B) an addition to the home capital stock may increase domestic unemployment and therefore lead to higher national income.

C) foreign investment in one firm may have beneficial technological spillover effects on other foreign producers that the investing firm does not capture.

D) an addition to the home capital stock may reduce domestic unemployment and therefore lead to higher national income.

E) domestic savings increase with more investment abroad.

Answer:  D
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19) "The line distinguishing external from internal goals can be fuzzy." Discuss.

Answer:  This statement is true. For example, employment target for export industries when export growth influences the ability of the economy to repay its foreign debts.
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20) Why do governments prefer to avoid current account deficits that are too large?

Answer:  A current account deficit may pose no problem if the borrowed funds are channeled into productive domestic investment projects that pay for themselves with the revenue they generate in the future. However, sometimes, large current account deficits represent temporarily high consumption resulting from misguided government policies or some other malfunctioning of the economy. Sometimes, the investment projects that draw on foreign funds may be badly planned, etc. In such cases, the government might wish to reduce the current account deficit immediately rather than face problems in repaying its foreign debt in the future.
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21) Why do governments prefer to avoid excessive current account surpluses? Or, why are growing domestic claims to foreign wealth ever a problem?

Answer:  For a given level of national saving, an increased current account surplus implies lower investment in domestic plant and equipment. A few reasons why: first, the returns to domestic savings may be easier to tax than those on assets abroad; second, an addition to the home capital stock may reduce domestic unemployment and therefore lead to higher national income; third, domestic investment by one firm may have beneficial technological spillover effects on other domestic producers that the investing firm does not capture. In addition, the country may in the future find itself unable to collect the money it is owed. Furthermore, countries with large surpluses can become targets for discriminatory protectionist measures by trading partners with external deficits.
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22) Using an equation, explain why governments prefer to avoid excessive current account surpluses?

Answer:  This follows from the national income identity, S = CA + I, which says that total domestic savings, S, is divided between foreign asset accumulation, CA, and domestic investment, I.
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23) The case of New Zealand, described in the text, asks what question about the country's international debt position?

Answer:  Fundamentally, the question is whether or not a country can sustain a current account deficit indefinitely. The answer is that, under certain conditions, yes it can.
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24) The case of New Zealand, as described in the text, draws what simple conclusion regarding the country's international debt position?

Answer:  Fundamentally, the question is whether or not a country can sustain a current account deficit indefinitely. The conclusion is that, under certain conditions, yes it can.
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25) The case of New Zealand, described in the text, draws what technical conclusion regarding the country's international debt position?

Answer:  Fundamentally, the question is whether or not a country can sustain a current account deficit indefinitely. The conclusion depends upon the country's future prospects. If net exports are expected to rise at a rate sufficient to counteract the effects of debt (including interest payments) over the relevant time period, than deficits could go on for an extended period.
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26) The case of New Zealand, described in the text, draws what technical conclusion regarding the country's international debt position?

Answer:  Fundamentally, the question is whether or not a country can sustain a current account deficit indefinitely. The conclusion depends upon the country's future prospects. If net exports are expected to rise at a rate sufficient to counteract the effects of debt (including interest payments) over the relevant time period, than deficits could go on for an extended period.

Page Ref: 538-547

Difficulty:  Moderate

27) The case of New Zealand, described in the text, is concerned with the country's

A) prospects for long term growth.

B) ability to sustain current account deficits.

C) unproductive industrial sector and its prospects for long run growth.

D) labor productivity.

E) exchange rate volatility relative to other currencies.

Answer:  B
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28) The case of New Zealand, described in the text, concludes that a country's current account deficits are not sustainable if a country's

A) prospects for long term economic growth are above its global deficit growth.

B) ability to sustain current account deficits is questionable.

C) unproductive industrial sectors and its prospects for long run growth.

D) labor productivity is below that of most other countries.

E) exchange rate has fallen relative to other currencies.

Answer:  B
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19.2   Classifying Monetary Systems: The Open-Economy Monetary Trilemma

1) Which of the following is one component of the "trilemma" that is faced by policy makers in choosing monetary arrangements?

A) exchange rate stability

B) restrictions on international capital movements

C) tariffs and subsidies

D) restrictions on the migration of labor

E) global inflation

Answer:  A
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2) Which of the following is one component of the "trilemma" that is faced by policy makers in choosing monetary arrangements?

A) freedom of international capital movements

B) exchange rate instability

C) tariffs and subsidies

D) restrictions on the migration of labor

E) global inflation

Answer:  A
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3) Which of the following is one component of the "trilemma" that is faced by policy makers in choosing monetary arrangements?

A) monetary policy oriented towards domestic goals

B) exchange rate instability

C) tariffs and subsidies

D) restrictions on the migration of labor

E) global inflation

Answer:  A
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4) What is the nature of the trilemma that is encountered when choosing monetary arrangements?

A) Only two of the three aspects of internal and external balance can be accommodated simultaneously.

B) Only three of the four aspects of internal and external balance can be accommodated simultaneously.

C) Only one of the three aspects of internal and external balance can be accommodated simultaneously.

D) Only two of the four aspects of internal and external balance can be accommodated simultaneously.

E) Only one of the four aspects of internal and external balance can be accommodated simultaneously.

Answer:  A
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5) What are the components of the trilemma that is encountered when a country chooses its monetary policy and what is the meaning of the term?

Answer:  The components are (1) exchange rates, (2) domestic goals, and (3) international capital movements. The monetary trilemma (a three-part dilemma) exists because only two of the three components can be influenced by monetary policy.
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19.3   International Macroeconomic Policy under the Gold Standard, 1870-1914

1) Under the price-specie-flow mechanism, what happens when, say, Germany's current account surplus is greater than its non-reserve capital account deficits?

A) German loans will finance all foreign net imports.

B) Automatic drop in German domestic prices and rise in foreign prices.

C) Gold reserves will flow into Germany.

D) Gold reserves will flow out of Germany.

E) Germany will experience a deficit.

Answer:  C
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2) The "rules of the game" under the gold standard can best be described as which of the following:

A) selling domestic assets in a deficit and buying assets in a surplus.

B) slowing down the automatic adjustments processes inherent in the gold standard.

C) selling domestic assets in order to accumulate gold.

D) selling foreign assets in a deficit and buying foreign assets in a surplus.

E) selling domestic assets in a surplus.

Answer:  A
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3) L. Frank Baum's classic 1900 children's book, The Wonderful Wizard of Oz, is

A) an allegorical rendition of the U.S. political struggle over silver.

B) an allegorical rendition of the U.S. political struggle over copper.

C) an allegorical rendition of the U.S. political struggle over both silver and gold.

D) an allegorical rendition of the U.S. political struggle over indebted farmers.

E) an allegorical rendition of the U.S. political struggle over gold.

Answer:  E
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4) Mercantilism held that

A) silver alone was the mainstay of national wealth.

B) gold alone was the mainstay of national wealth.

C) silver and gold were the mainstays of national wealth.

D) silver and gold are not important for national wealth of a country.

E) labor forces were the mainstay of national wealth.

Answer:  C
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5) The main policy goal for a country according to the mercantilists is

A) to create a one-time deficit in the balance of payments.

B) to create a continuing deficit in the balance of payments.

C) to create a one-time surplus in the balance of payments.

D) to create a continuing surplus in the balance of payments.

E) to create specie overflows.

Answer:  D
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6) The view of mercantilists can be summarized as follows

A) to sell less to strangers yearly than we consume of theirs in value.

B) to sell more to strangers yearly than we consume of theirs in value.

C) to consume more of theirs in value than we sell to strangers.

D) to consume the same amount as theirs in value as we sell to strangers.

E) to sell gold and silver to strangers in exchange for services.

Answer:  B
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7) Until the United States Civil War, The Unites States had a

A) gold-based monetary standard.

B) silver-based monetary standard.

C) bimetallic monetary standard consisting of silver and gold.

D) bimetallic monetary standard consisting of copper and silver.

E) bimetallic monetary standard consisting of copper and gold.

Answer:  C
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8) In L. Frank Baum's classic 1900 children's book, The Wonderful Wizard of Oz, the name "oz" is a reference to

A) an ounce (oz.) of gold.

B) an ounce (oz.) of silver.

C) an ounce (oz.) of copper.

D) an ounce (oz.) of gold or silver.

E) an ounce (oz.) of wheat.

Answer:  A
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9) Under the gold standard era of 1870-1914

A) Tokyo was the center of the international monetary system.

B) Paris was the center of the international monetary system.

C) Berlin the center of the international monetary system.

D) New York was the center of the international monetary system.

E) London was the center of the international monetary system.

Answer:  E
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10) Under the gold standard era of 1870-1914

A) central banks tried to have sharp fluctuations in the balance of payments.

B) central banks tried to avoid sharp fluctuations in the current account of the balance of payments.

C) central banks tried to avoid sharp fluctuations in the trade account of the balance of payments.

D) central banks tried to avoid sharp fluctuations in the capital account of the balance of payments.

E) central banks tried to avoid sharp fluctuations in the balance of payments.

Answer:  E
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11) A country is said to be in balance of payments equilibrium, when the sum of its current and its

A) non-reserved capital accounts equals zero.

B) reserved capital accounts equals zero.

C) non-reserved capital accounts equals to the surplus in the capital account.

D) non-reserved capital accounts equals to the deficit in the capital account.

E) non-reserved capital accounts is higher than the total capital account balance.

Answer:  A
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12) Under the Gold standard, a country is said to be in balance of payments equilibrium when the current account balance is

A) financed entirely by international lending without reserve movements.

B) financed by international lending and with reserve movements.

C) equal to zero.

D) financed entirely by international lending and past gold reserves.

E) financed entirely by gold reserves.

Answer:  A
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13) Explain why under the gold standard a perpetual surplus or a perpetual deficit is impossible.

Answer:  Since specie inflows drive up domestic prices and restore equilibrium in the balance of payments, any surplus eventually eliminates itself. A shortage of currency leads to low domestic prices and a foreign payments surplus, and any deficit eventually eliminates itself.
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14) The price-specie-flow mechanism

A) is an automatic mechanism for assuring external balance under floating exchange rates.

B) is an automatic mechanism for assuring external balance under the gold standard.

C) is an automatic mechanism for assuring internal balance under floating exchange rates.

D) is an automatic mechanism for assuring internal balance under the gold standard.

E) is an automatic mechanism for assuring internal balance under mercantilism.

Answer:  B
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15) How did the international monetary system influenced macroeconomic policy-making and performance during the gold standard era (1870-1914)?

Answer:  London was the center of the international monetary system. The primary responsibility of the central bank was to preserve the official parity between its currency and gold. To maintain this price, the central bank needed an adequate stock of gold reserves. Central banks tried to avoid sharp fluctuations in the balance of payments. 
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16) Under the gold standard

A) a perpetual surplus is possible.

B) a perpetual deficit is possible.

C) a perpetual surplus is impossible, but a perpetual deficit is possible.

D) a perpetual deficit is impossible, but a perpetual surplus is possible.

E) a perpetual surplus is impossible.

Answer:  E
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17) Under the gold standard

A) a shortage of currency leads to low domestic prices and a foreign payments surplus.

B) a shortage of currency leads to high domestic prices and a foreign payments surplus.

C) a shortage of currency leads to low domestic prices and a foreign payments deficit.

D) a shortage of currency leads to low domestic prices but leaves the foreign balance of payments at equilibrium.

E) a shortage of currency leads to a perpetual surplus.

Answer:  A
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18) It is claimed that L. Frank Baum's classic 1900 children's book, The Wonderful Wizard of Oz, is an allegorical rendition of the U.S. political struggle over gold.

Answer:  This statement is true. In L. Frank Baum's classic 1900 children's book, The Wonderful Wizard of Oz, the name "oz" is a reference to an ounce (oz.) of gold, and the yellow brick road represents the false promise of gold. The story represents the struggle of farmers in the western US who were heavily indebted.
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19) The gold standard period was

A) up until the first world war.

B) between the first and second world wars.

C) following the second world war until 1970.

D) between 1954 and 1970.

E) between 1814 and 1865.

Answer:  A
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20) Once the United States Civil War broke out, the United States moved to a

A) gold standard.

B) silver standard.

C) bimetallic monetary standard consisting of silver and gold.

D) bimetallic monetary standard consisting of copper and gold.

E) paper currency, called the "greenback."

Answer:  E
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21) Refute the claim by mercantilists who claimed that without severe restrictions on international trade and payments, a country might find itself impoverished and without an adequate supply of circulating monetary gold as a result of balance of payments deficits.

Answer:  The balance of payments would automatically regulate itself to ensure an adequate supply of money in every country.
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19.4   The Interwar Years, 1918-1939

1) A policy of "beggar-thy-neighbor" is a policy that

A) often benefits the home country in the long run.

B) often benefits the foreign country in the long run.

C) often benefits foreign country in the short run.

D) does not often benefits any country in the long run.

E) benefits the home country's neighbors in the long run.

Answer:  D
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2) The Great Depression that started in 1929 was

A) confined only to the United States.

B) confined only to the United States and Britain.

C) confined only to the United States and Europe.

D) a global phenomenon.

E) confined only to the Americas.

Answer:  D
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3) Which one of the following statements is the MOST accurate? By the year 1932, the United States

A) and Canada alone held more than 70 percent of the world's monetary gold.

B) and Germany alone held more than 70 percent of the world's monetary gold.

C) and Britain alone held more than 70 percent of the world's monetary gold.

D) Britain, and France alone held more than 70 percent of the world's monetary gold.

E) and France alone held more than 70 percent of the world's monetary gold.

Answer:  E
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4) Countries with the

A) biggest deflations and output contractions are countries which were never on the gold standard until 1936.

B) biggest inflations and output contractions are countries which were on the gold standard until 1936.

C) lowest deflations and output contractions are countries which were on the gold standard until 1936.

D) biggest deflations and output increases are countries which were on the gold standard until 1936.

E) biggest deflations and output contractions are countries which stayed on the gold standard until 1936.

Answer:  E
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5) How did the international monetary system influence macroeconomic policy-making and performance during the interwar period (1918-1939)?

Answer:  Governments effectively suspended the gold standard during World War I and financed part of their massive military expenditures by printing money. Further, labor forces and productivity capacity had been reduced sharply through war losses. As a result, price levels were higher everywhere at the conclusion of the war in 1918. Of special note is the German hyperinflation that occurred when prices in Germany increased by a factor of 481.5 billion!

The United States returned to gold in 1919. In 1922, at a conference in Genoa, Italy, a group of countries including Britain, France, Italy and Japan agreed on a program of a partial gold exchange standard in which smaller countries could hold as reserves the currencies of several large countries whose own international reserves would consist entirely of gold.

In 1925, Britain returned to the gold standard by pegging the pound to gold at the prewar price. Thus, the Bank of England was therefore forced to follow contractionary monetary policies that contributed to severe unemployment and to the decline of London as the leading financial center.

The world economy disintegrated into increasingly autarkic (self-sufficient) national units in the early 1930s.
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6) Describe the effects of the Smoot-Hawley tariff imposed by the United States in 1930.

Answer:  Had a damaging effect on employment abroad. The foreign response involved retaliatory trade restrictions and preferential trading arrangements among group of countries. This is an example of "beggar-thy-neighbor" policy, meaning a policy that benefits the home country only because it worsens economic conditions abroad.
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7) What explains the nearly universal scope of the Great Depression?

Answer:  The international gold standard played a central role in starting, deepening, and spreading the Great Depression.
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8) The following figure introduces the relationship between industrial production and wholesale price index changes between the years 1929-1935. What is the purpose of the following figure?
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Answer:  The purpose is to show that countries that left the gold standard early and adopted counter-deflationary monetary policies, such as Australia and the United Kingdom, experienced milder declines in output during the Great Depression. Countries such as France and Switzerland that stuck to the gold standard longer had greater decline in price level and output.
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19.5   The Bretton Woods System and the International Monetary Fund

1) The costs of inflation have been most apparent in the post-war period in countries like

A) Argentina.

B) Belgium.

C) the United States.

D) Canada.

E) Japan.

Answer:  A
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2) The costs of inflation have been most apparent in the post-war period in countries like

A) Brazil.

B) Belgium.

C) the United States.

D) Canada.

E) Japan.

Answer:  A
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3) The costs of inflation have been most apparent in the post-war period in countries like

A) Serbia.

B) Belgium.

C) the United States.

D) Canada.

E) Japan.

Answer:  A
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4) A convertible currency is a currency that may be freely exchanged for

A) domestic assets.

B) only silver.

C) only copper.

D) national currency.

E) foreign currencies.

Answer:  E
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5) Which of the two features of the IMF Articles of Agreement helped promote flexibility in external adjustment?

A) IMF members helped countries maintain full employment.

B) IMF allowed countries to attain internal balance.

C) New countries would enter the agreement if they fixed their exchange rate.

D) IMF members contributed their currency to form a pool of resources that IMF could lend to countries in need and parities in the exchange rate against the dollar could be adjusted with agreement of IMF.

E) IMF members argued against the use of floating exchange rates.

Answer:  D
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6) The dollar of the United States became the postwar world's key currency because of all EXCEPT

A) the early convertibility of the U.S. dollar in 1945.

B) the special position of the dollar under the Bretton Woods system.

C) the strength of the American economy relative to the devastated economies of Europe and Japan.

D) central banks naturally found it advantageous to hold their international reserves in the form of interest-bearing dollar assets.

E) the ease of transporting U.S. dollars compared with other currencies.

Answer:  E
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7) A person holding dollar deposits during the devaluation of the dollar would

A) enjoy a monetary gain.

B) see the foreign currency value of dollar assets increase by the amount of the exchange rate change.

C) shift their wealth into domestic investments.

D) suffer a monetary loss and see the foreign currency value of dollar assets decrease by the amount of the exchange rate change.

E) see no change in their investments.

Answer:  D
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8) Countries with large current account surpluses might be viewed by the market as candidates for

A) devaluation.

B) revaluation.

C) bankruptcy.

D) depreciation.

E) investment.

Answer:  B
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9) The IMF agreement forced the U.S. to exchange gold for dollars at what price?

A) $25/ ounce

B) $35/ ounce

C) $45/ ounce

D) $55/ ounce

E) $20/ ounce

Answer:  B
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10) How did the international monetary system influence macroeconomic policy-making and performance during the post-World War II years during which exchange rates were fixed under the Bretton Woods agreement (1946-1973)?

Answer:  In July 1944, representatives of 44 countries met in Bretton Woods, New Hampshire, and drafted and signed the Articles of Agreement of the International Monetary Fund (IMF) and of the World Bank. The agreement established fixed exchange rates against the U.S. dollar and an unvarying dollar price of gold-$35 an ounce.

The dollar of the United States became the postwar world's key currency because of a few factors:

(1)
The early convertibility of the U.S. dollar in 1945

(2)
The special position of the dollar under the Bretton Woods system

(3)
The strength of the American economy relative to the devastated economies of Europe and Japan

(4)
Central banks naturally found it advantageous to hold their international reserves in the form of interest-bearing dollar assets

The Marshall Plan, a program of dollar grants from the United States to European countries, was initiated in 1948.

Most countries in Europe did not restore convertibility until the end of 1958, with Japan following in 1964.
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11) What is a convertible currency?

Answer:  A convertible currency is a currency that may be freely exchanged for foreign currencies.
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12) Explain why the United States dollar became the postwar world's key currency.

Answer:  
(1)
The early convertibility of the U.S. dollar in 1945.

(2)
The special position of the dollar under the Bretton Woods system.

(3)
The strength of the American economy relative to the devastated economies of Europe and Japan.

(4)
Central banks naturally found it advantageous to hold their international reserves in the form of interest-bearing dollar assets.

Page Ref: 556-559

Difficulty:  Easy

13) How did the international monetary system created at Bretton Woods in 1944 allow its members to reconcile their external commitments with their internal goals of full employment and price stability?

Answer:  As the world economy evolved in the years after World War II, the meaning of "external balance" changed and conflicts between internal and external goals increasingly threatened the fixed exchange rate system. The United States, the issuer of the principal reserve currency, was a major concern, leading to proposals to reform the system.
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14) Discuss the impact of the restoration of convertibility in 1958.

Answer:  As foreign exchange trading expanded, financial markets in different countries became more tightly integrated, an important step towards the creation of today's worldwide foreign exchange market. With growing opportunities to move funds across borders, national interest rates became more closely linked and the speed with which policy changes might cause a country to lose or gain international reserves increased.

Page Ref: 556-559

Difficulty:  Easy

15) Explain how a country with a current account deficit is a ripe candidate for currency devaluation.

Answer:  If, for example, Great Britain had a current account deficit, the holders of pounds would become nervous and shift their wealth into other currencies. In order hold the pound's exchange rate against the dollar pegged, the Bank of England would have to buy pounds and supply the foreign assets that market participants wished to hold. This resulting loss in foreign reserves, if large enough, would most likely force a devaluation by leaving the Bank of England without enough reserves to prop up the exchange rate.
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16) Explain how a country with a current account surplus is a ripe candidate for currency revaluation.

Answer:  If a country like Germany had a current account surplus, it would sell its currency in the foreign exchange market in order to keep it from appreciating. The German central banks would thus find themselves swamped with official reserves, and Germany would face the problem of having its money supply grow uncontrollably, a trend that would most likely drive up the domestic price levels and upset internal balance. Revaluation of the currency would thus be a viable solution to this problem.
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19.6   Analyzing Policy Options for Reaching Internal and External Balance

1) When the exchange rate, E, and the foreign price level, P*, is fixed, domestic inflation depends primarily on

A) amount of aggregate demand.

B) home price level set by IMF.

C) current account balance.

D) government tax policy.

E) foreign interest rates.

Answer:  A
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2) The current account surplus is

A) an increasing function of disposable income and an increasing function of the real exchange rate.

B) a decreasing function of disposable income and a decreasing function of the real exchange rate.

C) a decreasing function of disposable income and an increasing function of the real exchange rate.

D) only a decreasing function of disposable income.

E) only an increasing function of the real exchange rate.

Answer:  C
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3) Under fixed exchange rates

A) monetary policy is not an effective policy.

B) fiscal policy is not an effective policy.

C) monetary policy and fiscal policy are not effective.

D) both monetary and fiscal policies are effective.

E) monetary policy has an unpredictable effect on the domestic money supply.

Answer:  A
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4) Under fixed exchange rates, domestic asset transactions by the central bank

A) can be used to alter the level of foreign reserves but not to affect the state of employment and output.

B) cannot be used to alter the level of foreign reserves but only to affect the state of employment and output.

C) can be used to alter the level of foreign reserves and to affect the state of employment and output.

D) can be used to alter the domestic money supply and the level of foreign reserves.

E) can raise output to full-employment level.

Answer:  A
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5) The XX schedule shows how much

A) fiscal expansion is needed to hold the current account surplus at X as the currency is devalued by a given amount.

B) monetary expansion is needed to hold the current account surplus at X as the currency is devalued by a given amount.

C) fiscal expansion is needed to hold the current account surplus at X as the currency is evaluated by a given amount.

D) fiscal and monetary expansions are needed to hold the current account surplus at X as the currency is devalued by a given amount.

E) foreign funding is needed to hold the current account surplus at X as the currency is devalued by a given amount.

Answer:  A
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6) The current account surplus

A) is a decreasing function of disposable income and an increasing function of the real exchange rate.

B) is an increasing function of disposable income and an increasing function of the real exchange rate.

C) is an increasing function of disposable income and a decreasing function of the real exchange rate.

D) is a decreasing function of disposable income and a decreasing function of the real exchange rate.

E) is an increasing function of disposable income and a decreasing function of aggregate demand.

Answer:  A
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7) Fiscal expansion

A) stimulates aggregate demand and causes output to decline.

B) decreases aggregate demand and causes output to decline.

C) stimulates aggregate demand and causes output to rise.

D) decreases aggregate demand and causes output to rise.

E) decreases government expenditures.

Answer:  C

Page Ref: 560-564

Difficulty:  Easy

8) A devaluation of the home currency

A) makes foreign goods and services cheaper relative to those sold at home.

B) makes domestic goods and services more expensive relative to those sold abroad.

C) decreases demand and output.

D) increases demand for domestic goods and services.

E) increases output and makes domestic goods and services cheaper relative to those sold abroad.

Answer:  E
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9) An attempt by a central bank to alter the money supply by buying or selling domestic assets

A) will leave both domestic money supply and foreign reserves unchanged.

B) will cause an offsetting change in aggregate demand.

C) will lead to a rise in domestic employment and output.

D) will lead to a decrease in domestic employment and output.

E) will cause an offsetting change in foreign reserves and leave the domestic money supply unchanged.

Answer:  E
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10) An expenditure-changing policy

A) alters the direction of the economy's total demand for goods and services.

B) alters the level of the economy's total demand for goods and services.

C) has no effect on aggregate demand.

D) is the same thing as an expenditure-switching policy.

E) affects aggregate supply but not aggregate demand.

Answer:  B
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11) The alteration of exchange rates to move the economy to internal and external balance may lead to all EXCEPT

A) a balance of payments crisis.

B) changes in the terms of trade.

C) changes in the level of imports or exports.

D) changes in interest rates.

E) a guaranteed unilateral improvement in economic wealth.

Answer:  E
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12) "A monetary policy is not a policy tool under fixed exchange rates." Discuss.

Answer:  True, under fixed exchange rates, domestic asset transactions by the central bank can be used to alter the level of foreign reserves but not to affect the state of employment and output.
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13) What is the difference between an expenditure-changing policy and an expenditure-switching policy?

Answer:  An expenditure-changing policy alters the level of the economy's total demand for goods and services. An expenditure-switching policy, on the other hand, induces an exchange rate adjustment and thus changes the direction of demand, shifting it between domestic output and imports.
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14) 
(a)
Assume that R denotes the domestic interest rate and R[image: image2.jpg]


 denotes the foreign interest rate. Under a fixed exchange rate what is the relation between R and R[image: image3.jpg]



(b)
Assume E denotes the domestic currency price of the dollar for a country which is not the United States. If one wants to analyze only the short run effects of a policy, what does one assume about the Home and Foreign price levels, P and P[image: image4.jpg]


, respectively.

(c)
Assume that there is no ongoing balance of payment crisis. What is this assumption really assume?

(d)
Assume a fixed exchange rate system. What does this tell you about E?

(e)
Under the above assumptions what are the conditions for internal balance?

(f)
How is your answer to Part D above would change if P[image: image5.jpg]


 is unstable due to foreign inflation.

(g)
Given the definitions above, how one defines the real exchange rate?

(h)
Write the condition for internal balance.

(i)
Define the variable not defined before in Part G above.

(j)
Using the equation for internal balance derived above, given our assumptions analyze the effects of a fiscal expansion.

(k)
What would happen if the government of that country, which is not the United States under Bretton Woods, decides to devaluate its currency?

(l)
What would happen if the government of that country, which is not the United States under Bretton Woods, decides to use monetary policy rather than fiscal policy?

(m)
Given all of the above, what is the relation between the exchange rate, E, and fiscal ease, i.e., an increase in G or a reduction in T?

(n)
Assume that the economy is at internal balance. What will happen if G goes up for a given level of E?

(o)
Assume that the economy is at internal balance. What will happen if G goes down for a given level of E?

Answer:  
(a)
R = R[image: image6.jpg]



(b)
Constant prices.

(c)
That Ee, the expected exchange rate, is equal to the exchange rate today, E. In other words, E = Ee.

(d)
E is constant, i.e., E = E0.

(e)
Since P[image: image7.jpg]


 and E are fixed, the expected price is fixed; thus, no inflation is expected. Then, internal balance will require only full employment, aggregate demand equaling the full-employment level, Yf.

(f)
In this case, full employment alone will not guarantee price stability under a fixed exchange rate.

(g)
The real exchange rate is equal to EP[image: image8.jpg]


/P.

(h)
Yf = C(Yf - T) + I + G + CA(EP[image: image9.jpg]


/P, Yf - T)

(i)
C = consumption, I = Investment, (Yf - T) = disposable income, T = taxes.

(j)
An increase in G or a reduction in T will increase aggregate demand and will cause output to rise in the short run.

(k)
A rise in E makes domestic goods and services cheaper relative to those sold abroad and thus increases demand for output.

(l)
A monetary policy is not a policy tool under fixed exchange rates. Under fixed exchange rates, domestic asset transactions by the central bank can be used to alter the level of foreign reserves but not to affect the state of employment and output.

(m)
Negative relation.

(n)
Over-employment.

(o)
Under employment.
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15) Assume that the government has a target value, X, for the current account surplus.

(a)
What is the goal of external balance?

(b)
Assume that we are dealing with only the short run, what are the values of P and P∗?

(c)
Given fixed P and P[image: image10.jpg]


, what would happen if E rises?

(d)
Given P and P[image: image11.jpg]


, what would happen if T decreases, i.e., an expansionary fiscal policy?

(e)
Given P and P[image: image12.jpg]


, what would happen if G increases, i.e., an expansionary fiscal policy?

(f)
Given all of the above, what is the relation between the exchange rate, E, and fiscal ease, i.e., an increase in G or a reduction in T?

(g)
Assume that the economy is in external balance. What will happen if the government maintains its current account at X, but devaluates the domestic currency?

(h)
Assume that the economy is at external balance. What will happen if the government raises E?

(i)
Assume that the economy is at external balance. What will happen if the government lowers E?

Answer:  
(a)
The goal of external balance requires the government to manage fiscal policy and the exchange rate so that the following equation is satisfied: CA(EP[image: image13.jpg]


/P, Y - T) = X.

(b)
Constant prices.

(c)
An increase in E makes domestic goods cheaper, thus improving the current account.

(d)
A fall in T raises output, Y. The resulting increase in output increases disposable income and thus leads to increased home spending on foreign goods, worsening the current account.

(e)
Similar to the answer above. A rise in G causes CA to fall by increasing Y.

(f)
Positive relationship.

(g)
The government raises E; thus, either G should go up or T should go down to maintain the external balance.

(h)
An increase in E raises net exports and thus leads to a surplus in the current account higher than the target level of X. This will represent a point above the XX schedule.

(i)
A decrease in E reduces net exports and thus leads to a deficit in the current account lower than the target level of X. This will represent a point below the XX schedule.
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16) Use a figure below to describe the four zones of economic discomfort.
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Answer:  The answer is given in the following figure.
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17) Using the II-XX framework, show using a figure that fiscal policies by themselves cannot bring the economy to both internal and external balances.

Answer:  Starting at point 2, fiscal policy is shown as only horizontal movements. This means that the economy can reach either point 3 (internal balance) or point 4 (external balance) in the figure, but not both internal and external balances. Only a devaluation of the currency accompanied with an increase in fiscal ease, namely increasing government expenditures or decreasing taxes, will move the economy to both internal and external balances at point 1 in the figure.
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19.7   The External Balance Problem of the United States Under Bretton Woods

1) The confidence problem of the Bretton Woods systems articulated by Robert Triffin refers to

A) the unwillingness of central banks to accumulate currency for fear of not being able to convert it to gold in case a run on the banks occurs.

B) consumer fear of stock market instability.

C) producer fear of rising wages.

D) the lack of convertibility of gold into silver.

E) low consumer spending because of balance of payment crises.

Answer:  A
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2) A two-tier gold market like the one created during the Bretton Woods System refers to

A) a private tier for private gold traders where the price would not be allowed to fluctuate, and an official tier for central banks where the official gold price would be allowed to fluctuate.

B) a private tier for private gold traders where the price would not be allowed to fluctuate, and an official tier for central banks where the official gold price would rise on a yearly basis by pre-determined increments.

C) a private tier for private gold traders where the price would be allowed to fluctuate, and an official tier for central banks where the official gold price would be set at $35 an ounce.

D) a private tier for private gold traders where the price would be set at $35 an ounce, and an official tier for central banks where the official gold price would be allowed to fluctuate.

E) a private tier for private gold traders where the price of gold would rise on a yearly basis by pre-determined increments, and an official tier for central banks where the official gold price would be set at $35 an ounce.

Answer:  C
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3) In order to bring about a real depreciation of the dollar, the U.S. can hope for

A) a rise in the U.S. price level.

B) a fall in foreign price levels.

C) a rise in the dollar's nominal value in terms of foreign currencies.

D) a rise in foreign price levels or a fall in the dollar's nominal value in terms of foreign currencies.

E) increased output and full employment.

Answer:  D
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4) The collapse of the Bretton Woods system marked

A) the end of floating exchange rates and a move to fixed exchange rates.

B) marked the end of fixed exchange rates and a move to floating exchange rates.

C) the beginning of the gold standard.

D) a plunge in the price of gold.

E) the elimination of paper currencies.

Answer:  B
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5) Which of the following statements is MOST accurate?

A) A revaluation restores internal and external balance immediately, without causing domestic inflation.

B) A devaluation restores internal and external balance immediately, without causing domestic inflation.

C) A revaluation restores internal and external balance immediately, but also causes domestic inflation.

D) A devaluation restores internal and external balance immediately, but also causes domestic inflation.

E) A devaluation restores external balance in the long run, without causing immediate domestic inflation.

Answer:  A
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6) Which of the following is the MOST accurate?

A) U.S. macroeconomic policies in the late 1960s helped cause the breakdown of the Bretton Woods system by early 1973.

B) U.S. macroeconomic policies in the late 1970s helped cause the breakdown of the Bretton Woods system by early 1983.

C) U.S. macroeconomic policies in the late 1980s helped cause the breakdown of the Bretton Woods system by early 1993.

D) U.S. macroeconomic policies in the late 1950s helped cause the breakdown of the Bretton Woods system by early 1963.

E) U.S. macroeconomic policies in the late 1960s delayed the breakdown of the Bretton Woods system to early 1973.

Answer:  A
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7) Refer to the graph below, which shows the effect of ________ on the home economy.
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A) foreign inflation

B) domestic inflation

C) foreign deflation

D) domestic recession

E) foreign recession

Answer:  A
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8) Refer to the graph below. The movement from point 1 to point 2 is stimulated by a disequilibrium in which there is domestic ________ and ________.
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A) overemployment; trade surplus

B) unemployment; trade surplus

C) overemployment; trade deficit

D) unemployment; trade deficit

E) inflation; unemployment

Answer:  A
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19.8   The Case for Floating Exchange Rates

1) Advocates of floating rate suggested it is favorable for economies for all of the following reasons EXCEPT

A) it discourages attack from foreign exchange speculators because of the fact that exchange rate adjustment is immediate.

B) it helps stabilize the shock effect on unemployment in case of economic changes such as fall in export demand.

C) it automatically matches the domestic inflation with ongoing foreign inflation.

D) it gives every country the opportunity to guide its own monetary conditions at home.

E) it brings the LR exchange rate to the level predicted by PPP without government policy decisions.

Answer:  C
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2) Which of the following is NOT a result of a temporary fall in foreign demand on one country's exports under floating exchange rate?

A) The DD curve shifts to the left due to reduction of aggregate demand.

B) The AA curve shifts downwards due to reduction of money supply.

C) a fall in aggregate output

D) depreciation in home country's currency

E) a fall in the home interest rate

Answer:  B
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3) Which of the following is NOT a result of a permanent fall in foreign demand on one country's exports under floating exchange rate?

A) The DD curve shifts to the left due to reduction of aggregate demand.

B) The AA curve shifts upwards due to the increased expected long-run exchange rate.

C) a reduction in output by a smaller degree compared to temporary fall in demand

D) depreciation in home country's currency

E) a raised level of unemployment

Answer:  E
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4) Which one of the following is/are INCORRECT?

An argument against floating exchange rates is that

A) a fixed rate automatically prevents instability in the domestic money market from affecting the economy if shocks come from home domestic money market.

B) a fixed rate might become unpredictable, complicating economic planning.

C) a rise in money demand under a fixed exchange rate would have no effect on the exchange rate and output.

D) a fixed rate functions within the price-specie-flow mechanism and maintains a balance of payments equilibrium.

E) a fixed rate automatically prevents instability in the economy from output market shocks.

Answer:  E
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5) If central banks were no longer obliged to intervene in currency markets to fix exchange rates, governments would be able to use monetary policy to reach

A) internal balance.

B) external balance.

C) internal and external balance.

D) internal but not external balance.

E) external but not internal balance.

Answer:  C
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6) Advocates of flexible exchange rates claim that under flexible exchange rates

A) no country would be forced to import only inflation from abroad.

B) no country would be forced to import only deflation from abroad.

C) no country would be forced to import inflation and deflation from abroad.

D) flexible exchange rates are not able to halt importing inflation from abroad.

E) flexible exchange rates are not able to halt importing deflation from abroad.

Answer:  C
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7) Advocates of flexible exchange rates claim that under flexible exchange rates

A) the United States would now be able to set world monetary conditions all by itself.

B) Germany would no longer be able to set world monetary conditions all by itself.

C) the United Kingdom would no longer be able to set world monetary conditions all by itself.

D) the United States would no longer be able to set world monetary conditions all by itself.

E) Germany would now be able set world monetary conditions all by itself.

Answer:  D
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8) Advocates of flexible exchange rates claim that under flexible exchange rates

A) the United States would no longer have the same opportunity as other countries to influence its exchange rate against foreign currencies.

B) the United States would have the same opportunity as other countries to influence its exchange rate against foreign currencies.

C) the United Kingdom would not have the same opportunity as other countries to influence its exchange rate against foreign currencies.

D) Germany would not have the same opportunity as other countries to influence its exchange rate against foreign currencies.

E) China would have the same opportunity as other countries to influence its exchange rate against foreign currencies.

Answer:  B
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9) Some claim that the long and agonizing periods of speculation preceding exchange rate realignments would

A) not occur under fixed exchange rate regime.

B) not occur under floating.

C) become more severe under currency board.

D) become less severe under floating.

E) be prolonged under floating.

Answer:  D
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10) Advocates of floating rates pointed out that

A) removal of the obligation to peg currency values would restore monetary control to central banks.

B) imposing of the obligation to peg currency values would restore monetary control to central banks.

C) removing of the obligation to peg currency values would restore fiscal control.

D) imposing of the obligation to peg currency values would restore fiscal control.

E) imposing of the obligation to peg currency would restore monetary control to the consumer.

Answer:  A
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11) Advocates of flexible exchange rates claim that under flexible exchange rates, if the central bank faced unemployment

A) and thus wished to decrease its money supply, there would no longer be any legal barrier to the currency depreciation this would cause.

B) and thus wished to expand its money supply, there would no longer be any legal barrier to the currency depreciation this would cause.

C) and wished to expand its money supply, there would no longer be any legal barrier to the currency appreciation this would cause.

D) and wished to decrease its money supply, there now would be a legal barrier to the currency depreciation this would cause.

E) and wished to increase output, there would no longer be a legal barrier to the currency appreciation this would cause.

Answer:  B
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12) Advocates of flexible exchange rates claim that under flexible exchange rates, a currency

A) appreciation caused by increasing the money supply would reduce unemployment by lowering the relative price of domestic products.

B) depreciation caused by increasing the money supply would increase unemployment by lowering the relative price of domestic products.

C) depreciation caused by increasing the money supply would reduce unemployment by lowering the relative price of domestic products.

D) depreciation caused by increasing the money supply would reduce unemployment by increasing the relative price of domestic products.

E) depreciation cause by decreasing the money supply would not effect unemployment, but would increase the relative price of domestic products.

Answer:  C
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13) Advocates of flexible exchange rates claim that under flexible exchange rates, a currency

A) depreciation caused by increasing the money supply would reduce unemployment by increasing world demand for them.

B) appreciation caused by increasing the money supply would reduce unemployment by increasing world demand for them.

C) appreciation caused by decreasing the money supply would reduce unemployment by increasing world demand for them.

D) appreciation caused by increasing the money supply would increase unemployment by increasing world demand for them.

E) appreciation caused by increasing the money supply would increase unemployment by decreasing world demand for them.

Answer:  A
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14) Advocates of flexible exchange rates claim that under flexible exchange rates, a currency

A) depreciation caused by increasing the money supply would reduce unemployment by lowering the relative price of domestic products and increasing the world demand for them.

B) appreciation caused by increasing the money supply would reduce unemployment by lowering the relative price of domestic products and increasing world demand for them.

C) appreciation caused by decreasing the money supply would reduce unemployment by lowering the relative price of domestic products and increasing world demand for them.

D) appreciation caused by increasing the money supply would increase unemployment by lowering the relative price of domestic products and increasing world demand for them.

E) appreciation caused by increasing the money supply would increase unemployment by lowering the relative price of domestic products and by decreasing world demand for them.

Answer:  A
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15) Advocates of flexible exchange rates claim that under flexible exchange rates, the central bank of

A) an overheated economy could cool down activity by increasing the money supply without worrying that undesired reserve inflow would undermine its stabilization effort.

B) a cooled economy could cool down activity by contracting the money supply without worrying that undesired reserve inflow would undermine its stabilization effort.

C) an overheated economy could cool down activity by contracting the money supply without worrying that undesired reserve inflow would undermine its stabilization effort.

D) an overheated economy could cool down activity by contracting the money supply without worrying that undesired reserve outflow would undermine its stabilization effort.

E) an overheated economy could cool down activity by decreasing employment and increasing output without worrying that this would undermine its stabilization effort.

Answer:  C
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16) Advocates of flexible exchange rates claim that under flexible exchange rates

A) enhanced control over fiscal policy would allow countries to dismantle their distorting barriers to international payments.

B) reduced control over monetary policy would allow countries to dismantle their distorting barriers to international payments.

C) enhanced control over monetary policy would allow countries to increase their distorting barriers to international payments.

D) enhanced control over monetary policy would allow countries to dismantle their distorting barriers to international payments.

E) enhanced control over monetary policy would destabilize exchange rates.

Answer:  D
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17) By the end of the 1960s, many countries felt that they were importing inflation from

A) the United States.

B) Germany.

C) France.

D) Japan.

E) the United Kingdom.

Answer:  A

Page Ref: 568-576

Difficulty:  Easy

18) Which one of the following statements is TRUE?

A) By devaluing its currency, that is, by lowering the domestic currency price of foreign currency, a country can insulate itself completely from an inflationary increase in foreign prices.

B) By revaluing its currency, that is, by increasing the domestic currency price of foreign currency, a country can insulate itself completely from an inflationary increase in foreign prices.

C) By revaluing its currency, that is, by lowering the domestic currency price of foreign currency, a country cannot insulate itself completely from an inflationary increase in foreign prices.

D) By revaluing its currency, that is, by lowering the domestic currency price of foreign currency, a country can insulate itself completely from an inflationary increase in foreign prices.

E) By revaluing its currency, that is, by lowering the domestic currency price of foreign currency, a country cannot insulate itself completely from a harmful decrease in foreign prices.

Answer:  D
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19) When all changes in the world are due to

A) fiscal policy, purchasing power parity holds true in the long run.

B) monetary policy, purchasing power parity does not hold true in the long run.

C) monetary policy, purchasing power parity holds true in the long run.

D) monetary policy, purchasing power parity holds true even in the short run.

E) fiscal and monetary policy, purchasing power parity holds true in the long run.

Answer:  C
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20) Federal Reserve Chairman Volcker's policy to fight inflation

A) led to the 1981-1983 recession, but was ultimately successful.

B) led to the 1981-1983 recession, but did not end high inflation due to beggar-thy-neighbor effects.

C) was perfectly complemented by Reagan's decrease in fiscal spending.

D) led to the 1981-1983 recession and foretold the economic downturn in the mid-1990s.

E) led to an immediate depreciation of the dollar.

Answer:  A
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21) Under purchasing power parity (PPP), if U.S. monetary growth leads to a long run doubling of the U.S. price level, while Germany's price level remains constant, PPP predicts that the

A) long-run DM price of the dollar will be doubled.

B) long-run DM price of the dollar will be halved.

C) long-run DM price of the dollar will remain the same.

D) short-run DM price of the dollar will be halved.

E) short-run DM price of the dollar will be doubled.

Answer:  B
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22) Under flexible exchange rate regime, a money-induced

A) decrease in U.S. prices causes an immediate appreciation of the foreign currencies against the dollar.

B) increase in U.S. prices causes an immediate appreciation of the foreign currencies against the dollar.

C) increase in U.S. prices causes an eventual appreciation of the foreign currencies against the dollar.

D) increase in U.S. prices causes an eventual depreciation of the foreign currencies against the dollar.

E) decrease in U.S. prices causes no change in foreign exchange rate.

Answer:  B
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23) Under Bretton Woods,

A) any foreign country cannot devalue its currency against the dollar in conditions of "fundamental disequilibrium."

B) any foreign country could devalue its currency against the dollar in conditions of "fundamental disequilibrium," but the system's rules did not give the United States the option of devaluing against foreign currencies.

C) any foreign country could devalue its currency against the dollar in conditions of "fundamental disequilibrium," and the system's rules did give the United States the same option of devaluing against foreign currencies.

D) the U.S. could devalue its currency against the foreign currencies in conditions of "fundamental disequilibrium."

E) any foreign country can revalue its currency against the dollar in conditions of "fundamental disequilibrium."

Answer:  B
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24) The DD schedule shows

A) interest rate and output pairs for which aggregate demand equals aggregate output.

B) exchange rate and output pairs for which aggregate demand equals aggregate output.

C) exchange rate and output pairs for which aggregate supply equals aggregate output.

D) interest rate and output pairs for which aggregate supply equals aggregate output.

E) exchange rate and output pairs for which aggregate demand is greater than aggregate output.

Answer:  B
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25) The AA schedule shows

A) Interest rate and output pairs at which the foreign exchange market and the domestic money market are in equilibrium.

B) Exchange rate and output pairs at which the foreign exchange market and the domestic money market are in equilibrium.

C) Interest rate and output pairs at which only the foreign exchange market is in equilibrium.

D) Exchange rate and output pairs at which only the foreign exchange market is in equilibrium.

E) Exchange rate and output pairs at which only the domestic money market are in equilibrium.

Answer:  B
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26) Under flexible exchange rate, the response of an economy to a temporary fall in foreign demand for its exports is

A) the currency appreciates, and output falls.

B) the currency depreciates, and output falls.

C) the currency depreciates, and output increases.

D) the currency depreciates, and output remains constant.

E) the currency appreciates, and output increases.

Answer:  B

Page Ref: 568-576

Difficulty:  Easy

27) Under fixed exchange rate, the response of an economy to a temporary fall in foreign demand for its exports is

A) the currency appreciates, and output falls.

B) the currency depreciates, and output falls.

C) the currency remains the same, and output decreases.

D) the currency depreciates, and output remains constant.

E) the currency appreciates, and output remains the same.

Answer:  C
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28) Comparing fixed to flexible exchange rate, the response of an economy to a temporary fall in foreign demand for its exports is

A) output actually falls less under fixed rate than under floating rate.

B) output actually falls more under fixed rate than under floating rate.

C) output actually remains the same under fixed rate than under floating rate.

D) the currency value grows in a fixed rate system and falls in a flexible system.

E) output grows in a fixed rate system and falls in a flexible system.

Answer:  B
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29) The effects of a decrease in export demand

A) is a powerful argument in favor of fixed rates.

B) is a powerful argument in favor of flexible rates.

C) shows the difficulties in determining which exchange rate is better.

D) is a powerful argument in favor of fixed rates only in the short run.

E) is a powerful argument in favor of fixed rates only in the long run.

Answer:  B
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30) Under the fixed rate regime foreign countries could hold their dollar exchange rates constant by

A) using tight monetary policy.

B) using expansionary fiscal policy.

C) negotiating with the central bank of the United States.

D) setting their domestic interest rate equal to the U.S. interest rate.

E) holding their exchange rates constantly pegged to the euro and yen. 

Answer:  D
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31) Under the flexible exchange rate, lowering the price of a foreign currency will

A) allow the expansion of monetary policy without causing inflation.

B) decrease the foreign country's output.

C) prevent a foreign price increase from causing deflation at home.

D) cause a home price increase to be exported to the foreign markets.

E) cause a "beggar-thy-neighbor" effect.

Answer:  A
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32) Supporters of a floating exchange rate cited all of the following as advantages over the Bretton Woods system EXCEPT

A) each country would be able to choose its own long run inflation rate.

B) parity changes and speculative attacks would no longer be possible.

C) countries would be forced to work cooperatively in deciding monetary policy.

D) exchange rates would be set symmetrically in foreign markets rather than by government decision.

E) governments would not need to export inflation to decrease domestic unemployment.

Answer:  C
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33) The mechanism behind the inflation insulation provided by a floating exchange rate is

A) Purchasing Power Parity.

B) a fixed AA curve.

C) market speculation.

D) tight monetary policy.

E) symmetry.

Answer:  A
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34) If the demand for Home exports decreased abroad, the Home fall in output would be greatest

A) if the decrease was temporary and the exchange rate was fixed.

B) if the decrease was temporary and the exchange rate was floating.

C) if the decrease was permanent and the exchange rate was fixed.

D) if the decrease was permanent and the exchange rate was floating.

E) if the decrease was permanent and the exchange rate was high.

Answer:  C
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35) Present the case for floating exchange rates.

Answer:  (1)
Monetary policy autonomy — Governments would be able to use monetary policy to reach internal and external balance. No country would be forced to import inflation and deflation from abroad.

(2)
Symmetry — The United States would no longer be able to set world monetary conditions all by itself. The United States would have the same opportunity as other countries to influence its exchange rate against foreign currencies.

(3)
Exchange rates as automatic stabilizers — The long and agonizing periods of speculation preceding exchange rate realignments would not occur under floating.
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36) "No central bank can be indifferent to its currency's value in the foreign exchange market." Discuss.

Answer:  
—
despite the "Monetary Policy Autonomy" theory of the original supporters of floating exchange rates

—
exchange rate's role in inflation

—
prices are sticky in the short run, so foreign developments can affect real interest rates and real exchange rates at home

—
don't want their exchange rate to be too volatile as it affects the demand for their domestic products

—
appreciation or depreciation can cause inflation that is difficult to counter

—
banks intervene on a discretionary basis so it is still necessary for them to continue to hold foreign reserves

—
"dirty floats" stabilize output and price level after shocks that affect exchange rates

—
empirically: after 1973 countries have continued to intervene to affect exchange rates
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37) Refer to the above figure. Use the DD-AA model to examine and compare the response of an economy under fixed and floating exchange rate to a temporary fall in foreign demand for its exports.

Answer:  The DD curve shifts to the left. When the exchange rate floats, because the demand shift is assumed to be temporary, it does not change the long-run expected exchange rate and so does not move the asset market equilibrium schedule AA. Thus, E rises, i.e. the currency depreciates and output falls.

Under fixed exchange rate, the central bank must prevent the currency depreciation that occurs under a floating rate; thus, it buys domestic money with foreign currency, reducing the domestic money supply and shifting the AA to the left and down. E will remain constant and output will fall.
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38) Refer to the above figure. Use the DD-AA model to examine and compare the response of an economy under fixed and floating exchange rate to a permanent fall in foreign demand for its exports.

Answer:  The DD curve shifts to the left. Under flexible exchange rate, the expected exchange rate Ee also rises and AA shifts upward and to the right. Thus, a permanent shock causes a greater depreciation than a temporary one.

Under fixed exchange rate, the central bank must prevent the currency depreciation that occurs under a floating rate; thus, it buys domestic money with foreign currency, reducing the domestic money supply and shifting the AA to the left and down. E will remain constant and output will fall.

Under fixed exchange rate, a fall in export demand if permanent have led to a situation of "fundamental disequilibrium" calling for a devaluation of the currency or a long period of domestic unemployment as export prices fell. Uncertainty about the government's intention would have encouraged speculative capital outflows, further worsening the situation by depleting central bank reserves and contracting the domestic money supply at a time of unemployment.
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39) Use the DD-AA model to compare the domestic economic response under flexible and fixed exchange rate regimes to a temporary rise in export demand from foreign countries.

Answer:  Under floating rate: The DD curve shifts right. AA does not change because the temporary increase will not affect the long run expected exchange rate. Output rises and E falls (depreciates).

Under fixed rate: The DD curve shifts right. The central bank intervenes to prevent a change in the exchange rate. By selling domestic currency they expand the domestic supply and the AA curve shifts right, keeping E constant. Output however will rise due to the new equilibrium of the DD and AA curves to the right of its former location.
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40) The reason that the claim that floating exchange rates result in greater economic autonomy for individual countries may not be entirely accurate is that

A) empirical research finds no supporting data.

B) policy makers are influenced by the effect of domestic policies on the exchange rate.

C) there is no generally satisfactory method for measuring economic autonomy.

D) it is based on the assumption of a gold standard.

E) countries that run large trade deficits must increase exports to balance trade.

Answer:  B
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41) Under a flexible exchange rate regime, an increase in real money demand

A) moves the AA curve to the right.

B) moves the AA curve to the left.

C) leaves the AA curve unchanged.

D) moves the DD curve to the right.

E) moves the DD curve to the left.

Answer:  B
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42) The effects of an increase in real money demand on an economy

A) is an argument against flexible exchange rates.

B) is an argument in favor of flexible exchange rates.

C) shows the difficulties in determining which exchange rate regime is better.

D) is an argument in favor of flexible exchange rates only in the short run.

E) is an argument against flexible exchange rates only in the short run.

Answer:  A
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43) If most of the shocks that buffet the economy come from the output market shocks, then

A) fixed exchange rates are better than flexible exchange rates.

B) flexible exchange rates are better than fixed exchange rates.

C) which system is chosen is not important.

D) fixed exchange rates are better than flexible exchange rates only in the short run.

E) flexible exchange rates are better than fixed exchange rates only in the short-run.

Answer:  B
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44) One should expect the forward exchange market to flourish 

A) under a fixed exchange rate regime.

B) under a flexible exchange rate regime.

C)  under neither fixed nor flexible exchange rate regimes.

D) under both fixed and flexible exchange rate regimes.

E) only under a gold standard.

Answer:  B
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45) In the case of a domestic monetary shock, floating exchange rates

A) make the home economy less vulnerable.

B) make the home economy more vulnerable.

C) make the foreign economy more vulnerable.

D) would not affect the foreign economy.

E) would not affect the home economy. 

Answer:  B
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46) "Under floating rates, the economy is more vulnerable to shocks coming from the domestic money market." Discuss.

Answer:  The statement is true. Under floating rates, a rise in real domestic money demand causes income to fall and to an appreciation of the domestic currency. If the rise in real domestic money supply is permanent, it will lead eventually to a fall in the home price level.

Under a fixed exchange rate, the change in real money demand does not affect the economy at all. To prevent the home currency from appreciating, the central bank buys foreign reserves with domestic money until the real money supply rises by an amount equal to the rise in real money demand. This intervention has the effect of preventing any change in output or the price level.
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19.9   Macroeconomic Interdependence under a Floating Rate

1) Due to macroeconomics interdependence between large countries, the effect of a permanent monetary policy expansion by Home is as follows: Home output

A) rises, Home's currency depreciates, and Foreign output may rise or fall.

B) falls, Home's currency depreciates, and Foreign output may rise or fall.

C) rises, Home's currency appreciates, and Foreign output may rise or fall.

D) rises, Home's currency depreciates, and Foreign output rises.

E) falls, Home's currency appreciates, and Foreign output may rise or fall.

Answer:  A
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2) Due to macroeconomics interdependence between large countries, the effect of a permanent fiscal expansion by Home is as follows: Home output

A) falls, Home's currency appreciates, Foreign output rises.

B) rises, Home's currency appreciates, Foreign output rises.

C) rises, Home's currency depreciates, Foreign output rises.

D) rises, Home's currency appreciates, Foreign output decreases.

E) falls, Homes currency depreciates, Foreign output rises.

Answer:  B
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3) Which of the following does NOT occur if Home starts a policy of permanent fiscal expansion:

A) Home's exchange rate increases.

B) Foreign's interest rate rises.

C) Home output rises.

D) Foreign output rises.

E) Current Account Balance increases.

Answer:  E
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4) The Plaza Accord of 1985 announces that the

A) G-5 countries will intervene in the foreign exchange market to bring about a dollar appreciation.

B) G-7 countries will intervene in the foreign exchange market to bring about a dollar depreciation.

C) G-5 countries will intervene in the foreign exchange market to bring about a dollar depreciation.

D) G-7 countries will intervene in the foreign exchange market to bring about a DM depreciation.

E) G-5 countries will not intervene in the foreign exchange market unless the dollar needs to appreciate.

Answer:  C
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5) Imagine a world with two large countries, Home and Foreign. Evaluate how Home's macroeconomic policies affect Foreign. Compare the small and the large country cases; consider both permanent monetary and fiscal policies.

Answer:  Note that since the two countries are large, neither country can be thought of any longer as facing a fixed external interest rate or a fixed level of foreign export demand. Consider only permanent shifts.

A permanent monetary expansion by Home, in the small country's case, would lead to currency depreciation and increase in output, interest rates also falling. When the Home economy is large, the same would happen, but now the rest of the world is affected too. Because Home is facing real currency depreciation, Foreign must be experiencing a real currency appreciation. This makes foreign goods relatively expensive and thus reduces its output. However, this increases Homes output, since Home's imports will rise. Thus, it is not clear what will happen to Foreign output. Note that Foreign output can rise only if the Foreign nominal interest rate rises too and can fall only if Foreign nominal interest rate falls. This is because the foreign market equilibrium is:
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 is sticky by assumption and thus fixed in the short run.

Consider now, a permanent expansionary fiscal policy in Home.

In the small country case, a permanent fiscal expansion would cause a real currency appreciation and a current account deterioration that would fully nullify any positive effect on aggregate demand. In effect, the expansionary impact of the Home fiscal ease would leak entirely abroad. This is because the counterpart of Home's lower current account balance must be higher current account balance abroad.

In the large country case, Foreign output still rises since Foreign's exports become relatively cheaper when Home's currency appreciates. In addition, now some of Foreign's increased spending increases Home exports, so Home's output actually increases along with the output of Foreign. Home's nominal interest rate must rise and Foreign's interest rate rises at the same time as well.
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6) "Even under flexible exchange rate regime, governments could not be indifferent to the behavior of exchange rates and inevitably surrendered some of their policy autonomy in other areas to prevent exchange rate movements they viewed as harmful to their economies." Discuss.

Answer:  True. One example is Volcker in October 1979 decreasing the U.S. money supply to halt further weakening of the dollar.
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7) Which system of interest rates is theoretically worst for policy coordination among the industrial countries of the world? How has this played out since the 1980s?

Answer:  
— pro-fixed rate theorists predicted that with floating rates, countries would only make policies that helped themselves at the expense of the world economy (although it has been empirically proven that in the short run policy decisions are exported, requiring the "dirty float")

— pro-floaters rebutted that the fixed rate system provided coordination only by giving the U.S. a dominant position

— during the 1980s industrial countries could have collectively reduced the effects of recession by coordinating their policies much more effectively, that is floating rates have not provided more coordination as predicted
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8) Use the following table to illustrate the importance of macroeconomic policy coordination. Show that the two governments would have been happier if the two of them had adopted looser monetary policies, but given the policies that the other government did adopt, it is not in the interest of any individual government to change its course. Assume that each country wishes to get the biggest reduction in inflation rate at the lowest cost in terms of unemployment. This means that each country maximizes-ΔΠ/ΔU, the inflation reduction per point of increased unemployment.
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Answer:  One needs to translate the outcomes of the table above into policy payoffs. Assume that each country wishes to get the biggest reduction in inflation rate at the lowest cost in terms of unemployment. This means that each country maximizes -ΔΠ/ΔU, the inflation reduction per point of increased unemployment. This leads to the following table. The outcome of this game is on the lower right hand side of the table, where the two countries use very restrictive monetary policies rather than cooperating and using the better somewhat restrictive policies for both of them.

Page Ref: 576-583

Difficulty:  Moderate

9) What are the outcomes of the following games, assuming the max-min criteria is used?
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Answer:  There are two equilibria in this game, in which one regime uses a "somewhat restrictive" policy, while the other uses a "very restrictive" policy.
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19.10   What Has Been Learned Since 1973?

1) Since 1973 "dirty floats" have been required because

A) PPP has not held.

B) high inflation countries have stronger currencies than countries with low inflation.

C) countries are not cooperating as much as original theorists predicted.

D) in the short run, monetary and fiscal policy only affects the autonomous home economy.

E) countries with a floating exchange rate have laissez-faire economies.

Answer:  A

Page Ref: 583-586

Difficulty:  Easy

2) What has been learned since 1973 with regards to the experience with floating exchange rate regime?

Answer:  
(1)
Monetary policy autonomy: Yes, however, floating rate did not insulate countries completely from foreign policy shock. In addition, no central bank can be indifferent to its currency's value in the foreign exchange market, thus the name "dirty float" rather than "clean float."

(2)
Symmetry: No, the dollar remains an important currency; the DM and the yen have gained importance; the British pound declines in importance.

(3)
The exchange rate as an automatic stabilizer: Good performance of the flexible regimes; many believe that, otherwise, major realignments of exchange rates should have taken place. However, some sectors suffered, such as agriculture.

(4)
Discipline: Did countries abuse the autonomy afforded by floating rates? Inflation rates did accelerate after 1973.

(5)
Destabilizing Speculation: Floating exchange rates have exhibited much more day-to-day volatility than the early advocates of floating would have predicted. However, exchange rates are assets prices and so considerable volatility is to be expected. Over the long run, they do not seem to support the notion of destabilizing speculation.

(6)
International trade and investment: Critics of floating claimed that international trade and investment would suffer as a result of the increased uncertainty. This prediction was certainly wrong. The use of forward markets and other derivatives expanded dramatically. Still, some economists disagree about the benefit to international trade.

(7)
Policy coordination: Floating exchange rates have not promoted policy coordination.
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3) Economic theory and experience since 1973 indicate that, under floating exchange rates, a country's fiscal and monetary policies in the short-run and the long-run can

A) have both domestic and foreign economic impact.

B) have domestic or foreign economic impact, but not both.

C) have domestic but not foreign economic impact.

D) have foreign but not domestic economic impact.

E) have neither domestic nor foreign economic impact.

Answer:  A
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4) Economic experience since 1973 indicate that, under floating exchange rates, symmetry

A) was not attained.

B) was attained almost immediately.

C) was attained over time as central banks held more U.S. dollars as a reserve currency.

D) has been difficult to measure and no consensus has emerged.

E) has been attained in foreign countries, but not domestically.

Answer:  A
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5) Economic experience since 1973 indicate that, under floating exchange rates

A) large and persistent departures from external balance were not prevented.

B) large and persistent departures from external balance were prevented.

C) changes in exchange rates failed to act as automatic stabilizers.

D) reduced monetary policy autonomy.

E) monetary policy autonomy was protected.

Answer:  A
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19.11   Are Fixed Exchange Rates Even an Option for Most Countries?

1) Maintaining a fixed exchange rate over the long run is today

A) virtually impossible.

B) more vulnerable to speculative attacks than in the past.

C) preferable.

D) possible only in special cases such as maintaining strict capital controls.

E) aided by technology which allows instant movement of money between financial markets in different countries. 

Answer:  D
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2) The focus of policy in the 1990s was

A) increasing trade.

B) increasing employment.

C) maintaining stable exchange rates.

D) holding down inflation and increasing domestic output.

E) levying beggar-thy-neighbor tariffs.

Answer:  D
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3) "Fixed exchange rates are not even an option for most countries." Discuss.

Answer:  Durable fixed exchange rate arrangements may not even be possible unless countries are willing to maintain strict controls over capital movements (as China does), or, at the other extreme, move to a shared single currency with their monetary partners (as in Europe). Even a country following prudent monetary and fiscal policies is not safe from speculative attacks on its fixed exchange rate.
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4) "No central bank can be indifferent to its currency's value in the foreign exchange market." Discuss.

Answer:  
—
despite the "Monetary Policy Autonomy" theory of the original supporters of floating exchange rates

—
exchange rate's role in inflation

—
prices are sticky in the short run, so foreign developments can affect real interest rates and real exchange rates at home

—
don't want their exchange rate to be too volatile as it affects the demand for their domestic products

—
appreciation or depreciation can cause inflation that is difficult to counter

—
banks intervene on a discretionary basis so it is still necessary for them to continue to hold foreign reserves

—
"dirty floats" stabilize output and price level after shocks that affect exchange rates

—
empirically: after 1973 countries have continued to intervene to affect exchange rates
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19.12   Appendix to Chapter 19: International Policy Coordination Failures

1) Coordination of economic policies among nations is a prisoner's ________ because all countries will be better off if they ________.

A) dilemma; cooperate

B) conundrum; cooperate

C) sentence; compete

D) screed; compete

E) quandary; collude

Answer:  A
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2) Coordination of economic policies among nations is a prisoner's ________ because if all countries go it alone, they will choose to ________.

A) dilemma; compete

B) conundrum; cooperate

C) sentence; compete

D) dilemma; cooperate

E) quandary; collude

Answer:  A
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3) Refer to the payoff matrix below, which ________ a prisoner's dilemma. If both countries go it alone, Home will choose Policy ________ and Foreign will choose Policy ________.
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A) is; 1; A

B) is; 2; B

C) is; 1; B

D) is not; 2; B

E) is not; 1; A

Answer:  A

Page Ref: 594-596

Difficulty:  Easy

4) Refer to the payoff matrix below, which ________ a prisoner's dilemma. If both countries cooperate, Home will choose Policy ________ and Foreign will choose Policy ________.
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A) is; 1; A

B) is; 2; B

C) is; 1; B

D) is not; 2; B

E) is not; 1; A

Answer:  B
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